
3

6 5

1
2

4

4
4

8
8

10

7

9

9

9

PCS LENGTH WIDTH
2           1300mm 40X40 K10L
5             520mm 40X40 K10L
2              500mm 40X40 K10L
3              400mm 40X40 K10L
2              250mm 40X40 K10L
2              200mm 40X40 K10L
2             260mm 40X40 K10L
2             650mm 40X80 K10L
3              520mm 40X80 K10L
2              400mm 40X80 K10L

ALL SIGMA PROFILES HAVE 10mm SLOT

PCS PART INFO
2 Long Corner Connec�on For 40X80
4 Narrow-Fi�ng Corner Connec�on For 10mm Slots

24 Wide Corner Connec�on For 40X40 
68 İmbus M8X16mm Bolt
74 M8 Metal Washer
26 Straight Corner Connec�on For 40X40
52 Countersunk M8X16mm Bolt
68 Rugged Nut M8 10 mm Slot
56 T- Slot Nut M8 10mm Slot
8 Imbus M6X16mm Bolt For Steering Wheel And Pedal
8 M6 Metal Washer
4 Imbus M8X12mm Bolt For Seat
1 1 x No: 5 Allen key
1 1 x No: 6 Allen key

ASSEMBLY PARTS

20 40X40 Cap
6 40X80 Cap

PLASTIC CAPS

1

2

3

4

5

6

7

8

9

10


